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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option of the following :
o 1x8=8

R -/ #fde T il Sfrea ¢

(i) What is the primary advantage of the
‘Brick and Click’ Model ?

T e e wIffR el Rt e
(a) No need for phyéical space'
<ifie g el 1R

(b) Offer flexibility to customers in
terms of shopping mode
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A B

(c) Completely online
YA IR
(d) No digital presence needed
- Fofercser BoiffeR e 1
Which of the following is not typically

a step in strategic planning process ?

RfiRe @ AtRire @Eresre AResm

@it B et R

(a) Environmental scanning

(iii)

In the communication process, who is
responsible for decoding the message ?

QA eAfrare IS rwie w1 wike
T 8IS ?

(a) Sender
(<

(b) Medium
SMEGY

" (c¢) Receiver

SIS

(d) Feedback channel

SRR A

(iv) A self-confident leader whose
iR g personality. and act.ion inﬂuence people
‘ : : to behave in certain ways is called
- t : .
(b) Formulation of strategy R UL o T TReT I
C“'*” (Sliag - ITEes TS wipe iRaE a—lﬁ—p © TE (O€T
(c) Execution of employee Nalk @@MW (P 19 (TS e iy a1 T e
performance reviews - (a) Participative leader - '
FHITT e fiEsaR e Seicsifios
(d) Strategy implementation (p) Charismatic leader
. | | AR JfET ol
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(c) Aﬁtocratic leader
GFoRa| (Tl
(d) Permissive leader

(v) Which of the following is not within
the formal process of communication ?

R (IRC! AR S 2R foess
R : ,
(a) Encoding
TR OF
(b) Interpreting_'
e oieR
() Decoding
R (& SAE G
(d) Feedback
TP TS

(vi) The plan to achieve overall
organisational goals is called .

a1 A 7T SR AR Y AR

e (RGN Ak T2
(a) Strategic plan
aFgsd siRTsHl
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(b) Tactical plan
FETsrs AARPeal

() Operational plan
e i

(d) Standing plan

(vii) Motivation is a stimulation of mind:

under the management function of
TR ¢ NPT Tz RBoita Fewe
D! ARGERR TR TBEE ?
(a) Directing |
Rt
(b) Orgariising
TRooT
(c) Controlling
ez s
(d) Co-ordinaﬁng
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(viii) Organisafion where expert assistance
is provided to the line managers are
oo, To (AR ARGES e RoeRes

‘(@) Line organisation

&R A

(v) Functional orgahisation
e ARotow

}{C)‘ ‘Line and staff’ organisation
R o T IR

(d) Project organisation
AT AN

9. - Write short answers on the following : (any
six) : 2x6=12

L2))

(i) Why do companies prefer for
franchising ? ‘

RIPTRLE ‘(Feiafer’ 1 IR FEe
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()

(@)

(iv)

E (v)

(vi)

Write briefly two techniques commonly
used in the decision making process.

Frals ez 2if¥Fal 79 IR [0 5573{‘115?[
TREFCo forit |

Briefly state the relationship between
planning and controlling in
management.

ﬁwﬁmwﬁm«mm
wmﬂwwn :

LlSt three essential trait of an effective
leader.

a@ma?m‘qﬁ"r QIS5 f%ﬁ?rwrﬁm erf‘?rﬁ
W@WI ‘

Write the main features of Theory X.

©g X-3 34 WRETR 1

Mention the problem of dual

accountability in matrix organisation.

e Ferome HiFS (@Y MRREOR TEFRES
S =
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(vu) List- out at least two areas where

ered
managerial control is consid

necessary. | |
Aol FEE SRR 3 O RS
75 CFas S T

(viii) Creativity in decision making.
B SIS ol |

(i) What is virtual organisation ?
oRfbga oten =2

-(x) What is work from home ?

g o9 I N e

Answer any four of the following :5%4=20
eRIe R 516 9o ol ¢

" (i) Explain the concept of strategic

planmng

c%rﬁaﬂ“ﬁﬁa?ﬂaﬁmmWWI

(i) Define ‘bounded rationality’ and its role

in decision making.

‘ﬁmm’w\mﬁmmﬁm@aﬁr

3 Bike R 34 |
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| (iii) What are the three core elements of

delegation of authority ?
O ASJINS [/ IoT oA R

(iv) Discuss the factors that can affect an
individual’s motivation in the
workplace.

WL‘]WWWNWWCWW
I (PR R e 711

(v) Explain the steps in decision making.

s 2z ate sReTE SR AMTTITE
(G [ :

(vi) What is the laissez-faire or free-rein

leadership style ? In what type of teams

~ or setting would this leadership style
be most effective ?

‘Laissez-faire’ (9g (61 &2 (@I 901 wel

3t SR @3 mtﬁmﬁ%zﬁﬁi’v
(vii) Explain Matrix organlsatlon structure

Matrix 515 SHSRTH! 0 3w |

(viii) Why is informal organisation no less’

~important than formal organisation ?

m@ﬁaﬂ\ﬂh%ﬂmw\m—hw
awgrld I @ T
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‘ following : : ' . .
4. . Answer any two of the following (tv) What are the some potential failure

o , 10x2=20 , reasons and success factors for
: z T business process re-engineering ?
L ) . . b RPN @i SRRl TSig gfor
() - Discuss in detail the difference between PR AT TSR T B e
. 3 t .
micro, meso and macro environmen () Evaluate the importance of work-life
in business. ' balance in “today’s corporate
| . "fﬁ, Cﬂﬁ’ e &S 2l | erjvnonment. _
eﬂU@Hm - | IEAN FHIG AR TSR SR
R : ' SFRY YR 9 | |

(ii) Elaborate on the four pillars of corporate
social responsibility. (Economic, legal,
ethical and philantrophic obligation)

ool I T4 | (S, Siza, W
I M ifEe) |

(iii) Discuss the role of IT and social media
in communication in business

organisation.

IR F290S B2 AL S AN NG

@R (vae B ofim s G ES
A 4 |
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